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QUESTION 1

The following command is issued:

Switch# checkpoint rollback start

What is the result?

A. The command will fail because rollback commands must be issued from global-config mode.
B. The switch will revert the running-configuration to the checkpoint called “start” without a reboot.
C. The command will fail because it is incomplete.

D. The switch will use the checkpoint “rollback” as the starting configuration on next reboot.

Correct Answer: B

QUESTION 2

HOTSPOT

Click on the colored box that corresponds with the line that best represents Multicast traffic flow.
Hot Area:

Answer Area

Correct Answer:
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Answer Area
Blue Box
QUESTION 3

What are two features of the three-tier designs? (Choose two.)
A. removes the distribution layer in favor of a spine-leaf design used in modern data center deployments
B. adds a distribution layer to free up resources from the Core for improved performance and routing throughput

C. a more scalable design over by leveraging a distribution layer to handle Layer 3 routing and access control in large
deployments

D. uses only Layer 2 access on the Access and the Core with Layer 3 routing and access control provided at the
distribution layer

E. is considered legacy by requiring a large flat layer-two broadcast domain from Core to Access and should be
avoided

Correct Answer: BC

QUESTION 4

Refer to the exhibit.

Latest HPE6-A72 Dumps | HPE6-A72 VCE Dumps | HPE6-A72 Practice Test 3/6


https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html

VCE & PDF https://www.geekcert.com/hpe6-a72.html
2024 Latest geekcert HPE6-A72 PDF and VCE dumps Download

GeekCert.com

Root Switch Backup
Core-1 Core-2

1/1/27 1/1/27
1/1/28 1/1/28

Non-root Non-root
Access-1 Access-2

All four switches in the diagram have been configured with the region name "Arubal".

What two other MSTP configurations must match for switches within the same MST region? (Choose two.)
A. MST region type

B. MST Bridge ID

C. MST version number

D. MST revision number

E. MST VLAN to instance mapping
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Correct Answer: DE

QUESTION 5
Refer to the exhibit.
watchlog/3

dbus—daemon
intfd

extd-rsv—conver

scsi eh 6
cpuhp/3
kworker/4:0
scsi tmf 4
kworker/5:1H
smartd
fault—-handlerd
btd

portd
migration/4
sesi tmf 1
kworker/2:0H
kauditd

rmond

certmgr
icmp6 unreachab
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The above output is the result of issuing the command show system resource-utilization.

What command should be used to enable terminal output line by line or page by page?

A. The command page

B. The command terminal length 30
C. The command more

D. The command less

Correct Answer: A
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